DUPLOMATIC 48 900/112 CD
OLEODINAMICA

ZE
FF31% 20

LC+ iE3 &
ISO 7368 - DIN 24342

LP* s#iR

ND 16 -25-32-40-50-63

& L{EE S 420 bar
BARE (WHARSHE)

TAHERE

— WHIUH R RN, IS AR, TR R R [ A
o

— B LA R ot e s, STEL AT 2R (R [
FA K BAR R RS 5

— IR ICME ALY B 1SO7368 / DIN 24342 )4 % I 12 1 25 4%
(AR SR ORGSR APl % . S0 RS 2R A1SO
4401-03 (CETOP 03)br#E M1, LASEILA | i 42 H Th e (W35 8
THLAERF S R I REIIR). TERBES PG NS, I3RS — Akl
T,

— 2 R R (2), R (1) A 5 (3)ZEL A o RS T e P

4@ FRAERL(S), AT LR BB AL E(D), 45 HIE I JE A
—— SR PN R

— PR R R I T i
- QL B BRI T, S AR .
P o % B 0
A, - BEEMER, & X AS% = 1
A, - L0 P T T
A, - HA, - AT
THiAHELA /A, 191/1,66.
i T T RLA, (AL 1 ASIB) s T A, (9 161 MBEIA) FO R
S PR FERA, (0 LSS E S ) I0E J, R .

A1

CPE: BT A

L IRTITAA, A IS (AL 1:1) L 20 VF3 1 ABIB.
A2
A3

48 900/112 CD 1/20



D

1- ERBITHRES

LC*

B35 20

il ]

KA,

(L A, 1 A,):
Qs = iyt (1:1,66)

PS = JEJj#Hl (1:1)

QD = il L L (1:1,66)

I
LL = IR,
CHIB 2 [AH 4
ER TR

i

NBR 2 &1 1030 1 3 4

L 20 - i&FHFND 16, 25, 32, 40150
21-3&EHFND 63
(FF311'520-29, HMEMI%8 51 R ] AAR)

AT B R )

0.5=0,5bar
1 =1 bar ({U3&H T°ND 63)
2 = 2 bar (Ai&H TND 63)
4 =4 bar

(BT EIFE K1 u )

AR
16 | 25 32 40 50 63 RE WA 5
ND16 | ND25 | ND32 | ND40 | ND50 | ND63
|
x x X x x QS0.5 C|
B
x X X x x x Qs2 §
A
|
C!
X X X X X QD4 B
A
|
X PS1 c
B
X X X X X PS2
A

2 - WM

45 51S0 6743-44RHE ™ YIRS M HL 5 HM I, {EHINBR #$

T R I A E BRI 22 1 RE

48 900/112 CD

XFFHFDR MR (BERREE) , EHIFPM B (RSV) o I HAD
WL BIENHFA. HFB. HFC, H&EWIRMIMBORIBIT. 2 TAEmES T80 °C I, 12 SBOMEIMAIE B R E/ 530 .

2/20



D

LC*

F55 20
3 - BARSY (BT =AR)
LCHi 2 1 e K TAE g bar 420
DP*, DPE*, DF1, DF2, LCMZ 25 b 5tk T4 e PR i bar 350
LT TR M B R TAEE S W2 S R EAR S
WEER °C -20/ +50
T G °C -20/+80
TR B cSt 10 + 400
TR o B S e Hi4E 1SO 4406:1999 %544 20/18/15
2R, cSt 25
3.1 - QEFEEBRB ARSI (REEHITRE)
AR
16 25 32 40 50 63
LA cm? 1,54 3 6 8,76 14,8 24,6
TFRA2 cm? 1 2 4 576 97 16,1
TFRA3 cm? 2,54 49 10 14,3 24,3 40,7
FEITHE h cm 0,8 1 1,25 1,6 1,8 2,3
SHI. FFIE cm? 2,03 49 12,5 22,88 43,74 96,26
R I/min 250 500 900 1300 2000 3000
FHIGATHE h cm 08 1,15 15 18 22 27
D7, CANCELT A cm3 2,03 5,63 15 25,74 53,46 110
B I/min 200 450 800 1100 1700 2700
7% 0,5 0,5 0,5 0,5 0,5 0,5 -
A—B % 2 2 2 2 2 2 2
R 4 4 4 4 4 4 -
FIEE S - bar
7% 0,5 0,9 1,1 0,7 0,76 0,8 -
B—A P 2 3,1 3 3,1 3 3,2 3,2
T 4 6,15 5,9 5,4 5,9 59 -
=8 Kg 0,25 0,5 1,1 1,9 3,9 7.8
3.2 - PRIEHEBBARSE (£ /1iEHTEE)
AR
16 25 32 40 50 63
MR A1 = AR A3 cm? 2,54 4,9 10 14,4 24,3 40,7
SHI. B I/min 200 400 900 1000 1500 2500
1 - - - - - 1
Fa 7 —— bar
P 2 2 2 2 2 2 -
R Kg 0,25 0,5 1,1 1,9 3,9 7.8
48 900/112 CD 3/20



D

4 - SEMEER  (fmiEES0°C, IMTHEES6 cStEME T D

4.1 - LC*-QSEF B HIThHREFAILC*-PSELE /i H|ThAe

Ap
[bar] § GN16 GN25
10
/ /

. / /

’ / /|

GN32

4 /
/ /
? d “ .
J P //
T -
0 100 200 300 400 500 600 700 800
Q [I/min]

4.2 - LC*-QDEIR B F|ThEEHFH B

Ap
[bar] | GN16 GN25

10 /

8
/ /

° / / )
* / o

/ / GN32

/ "
) yAy _—
J o~
1 —
0 100 200 300 400 500 600 700 800

Q [I/min]

48 900/112 CD

Ap
[bar] A
10

LC*

B35 20

GN40  GN50 GN63

[ 1/

~~—_|
N
N

/
/ / /

/ / pd

/ pd

N~

0

Ap
[bar] |

)

= -

1000 2000 3000 4000 5000
Q [I/min]

GN40 GN50 GN63

10

[ 1] /

/
/

/ / /

/[ / /

/ )4

/ /

//

//
Ve

=

_—

1000 2000 3000 4000 5000
Q [I/min]

4/20



D

5 - LCHEERIEILR T, FFA1S0 7368 / DIN 24342

o
3
[TT0.05} 2L 75 —{Z[0.01/100]
1.6,
L | N4
(. ‘ \
H1 H7 P
<7 H4
1 H2
8l ot
‘ o ‘ = 7‘7[34 H3
oA H5
IS -
= l |
Q b He
\ R e
A
| bs
~— D2 —

LC*

6 - LPEHIZBERLEMTMNT, F41S0 7368 / DIN 24342

L7

L7

48 900/112 CD

D6 max

(X.Y.Z1,22)

FF31S 20
LCHE%E IR AFR R
16 25 32 40 50 63
D1 32 45 60 75 920 120
aD2" 25 34 45 55 68 90
@D3 max 16 25 32 40 50 63
@D4 16 25 32 40 50 63
@D4 max 25 32 40 50 63 80
H1 min 20 30 30 30 35 40
H2 + 0,1 43 58 70 87 100 130
H3 *o! 56 72 85 105 | 122 | 155
H4 %t @D4 34 44 52 64 72 95
H4 % i @D4 max 29,5 40,5 48 59 655 | 86,5
H5 2 2,5 2,5 3 3 4
H6 min 1 12 13 15 17 20
H7 2 2,5 2,5 3 4 4
LPH il # AR AFR R
16 25 32 40 50 63
@D5 M8 M12 M16 | M20 | M20 | M30
@D6 max 4 6 8 10 10 12
4_}9 op7 M 4 6 6 6 8 8
L1 * 85 100 125 140 | 180
Lo L2201 48 62 76 92,5 108 | 137,5
T | 13£0,1 46 58 70 85 100 | 125
L4+0,1 23 29 35 42,5 50 62,5
L5+0,1 12,5 13 18 19,5 20 24,5
L6 +0,1 2 4 6 7,5 8 12,5
L7 * 13,5 15 20 20 27,5
L8 min 15 20 28 35 35 52
L9 min 8 8 8 8 8 8

*

= REERRCT AR (55 9.2-9.7 )

5/20



D L P*

55 20
7 - BRIT R
LC i i % 1 55 AR I— Zdsf: NBREF I Y03 & i 43 A
——— (FF51'520-29, AMEM @ REERR
)
AR
w© | 25 | 32 | a0 | 50 | e3 HIRAHR BIERFS HUBERFS 384 | SRR

ND16 | ND25 | ND32 | ND40 | ND50 | ND63

X [
P A T
X X X X X X D 8.2 9.2
X C Y
P A B T
X X X X Dz r‘ 8.3 9.3

X z1 Cc z22 Y

P A T
L
X X X X X DF1 r O 8.4 9.4
X z1 C Y
P A T
X X X X DF2 018 o1 8.5 9.5
X z1 C Y
)i
X X X X X X Q X‘T—@T 8.6 9.6
X Cc
P T
P -
X X X X X X DP* X > 8.7 9.7
K %21 %C
X z1 C Y
P T
P ==
X X X X X DPE* X - 8.8 9.7
o kzZ1 K C
X 1 (o] Y

48 900/112 CD 6/20



D

8 - NLEERF S

LP+

F5)5 20

8.1 - REUFEAR, J5 [ MEERIIAE, SMEBEFX

PLEERFS

iR

TR e FREHE X 2, 0] i 2 R el 1/4" BSPE ik,
ND 40FIND 50k, ~hse T IhRgnl @il DR AR LB, A& EWREH, g
1950751 (7% B 41T 1),

8.2 - DRYTRAR, J7 [ I A B v R T g

PLEERT S

iR

AT

P B T
C
X = Y
B
A

T2 1 2 S 4% i E I A R M DS 3-TASEIL( 7 B AT T - WLFEAR41 150)
- L IRET = A o B LitE
- R HE = A B A

8.3 - DZHHAR, TrmEM, E RN R e R e

HLEERFS

iR

ol

P A B |T

RE

X

Z1 2 Y
B

A

DZR ARk AT LU H: B By B R SR A S S P, RIS thn] LIOA 55 5 it BR Z 1 AN Z2 41
FLE e R S g 1
563 FEL I DS 3-S10 L AT AT I (LA 441 150).

8.4 - DF1REAR, 77 MMM IR, WEES

HLRERF

iR

P

1.5

C
X zZ1 Y
B
A

DF 178 36 5 XRIZ1 1 600 26 St

555 W i DS 3-TAL L ST I LREA41 150).

- MW = AoB i

- AT = A B EHIAE, B A ERE (RS XORBIHIE, %521
FIAIATTAIE).

48 900/112 CD

7/20



D

LP+

B35 20

8.5 - DF2RBIMR, J7EHA A RIIE, PIBSSeE M T

01.5 015

e C

X z1 Y
B

A

VLR S iR
s S 0 T I MXIZ A 5 B I 5«
AX SR SR ORI, T UL S LA 0 P 0 0 S S B B (PR ).
P A BT 5 % HUBEIIDS3-TAL U AT I(ILRE 41 150).

- FLHEIITH = A o B CiiLE
- HHREARH = A — B 5l

8.6 - QAUMN, FMEEH AR

PLEERF S

i

X
B
A

I AR AT AR PR A s S LR R R Th RE .
9T YIS (AR R ) F AL R B, 8 5 QDAL (4R IRIC A A

8.7 - DP* R EIR, E/1iEHIzhek

HLRERF S

i

P A BT
P -
X
R
X 21| =] v
B
A

SRR T E R, SEEUE i HIThAE .
- Bx KA % /) DP4 = 140 bar - DP6 = 350 bar
TH R 5 M 1950591 A Z5 A AT ¥

AX

o]
=

I3 L R DS 3-S A2 S BT HE A T AR I 4 i D RE
(FELIE I 5 LT I - WREAR41 150).

- R IR R = de /N )R B0

- VLIRS L = 3 AR AR I W S B 03

35t PR R DS 3-S 252 LA FL SN RN 28 I 0 A I 4% bl T g o

(FRLRE IR T S AT I - AR 41 150),

MCI*-SAT/M0 (i& Il T- #4516, 25F132 - 7 H 41T 1) FIMCD*-SAT (& | T #i#%40, 505163 -
BT - WAEA61 200)

- LR IR T R = dR /N A7 S

- EELR IR e R AT L = 8 T BRTE 5 R P () 9 R S T 94

- P IR o LR A5 P = B R IR (MCI* B MCD*) SE 8L /4% il

48 900/112 CD

8/20



LP+

F5)5 20

x
=<

- o

o4

N

3!

oiw

B L R DS 3-S 3 SE B HL A EI T AN = 20 1 B Ji3s ) T RE o

(FELH 1 75 FR AT - DLREAR41 150),

MCI*-DT/0 (i&fH T 16, 255132 - 7 HUfliT 1) FIMCD*-DT/51 (i T4l 40
FI50 - 7 ST - LR 461 200)

- FLT R T PR = 3 B RS R AR R IR IR S B g A

- HL T R a FE R A5 P = i o o e AR U7 IR S B a4

- FERE IR0 RS FE = JE i i I IR SE IR R 3 ).

8.8 - DPE* BHMR, KEAHEHIThRE

P -
X \‘@4
X %C C
XZ1§> Y
B
A

PLEERS ik
T@% S L% 1 PRED3SIILE 3 Pl Th e
P _ABIT (Ll 75 23T I, WAEA81 210).

- I KM 7 DPE4 = 140 bar - DPE6 = 350 bar
- LEI R = foe/ N ) A
- LB AR = ) i S 3 )

48 900/112 CD

9/20



D

9 - FH|BARIMEA R R

9.1 - RAHER

LP16R
LP25R
LP32R
LP63R

48 900/112 CD

D2
| /
T G
A i | 1 f
| E
NI i N

4 F C
!
[ ]‘F’%‘bx:, s +‘\
B C [[{eri==i2
N

LP+

35 20
JF mm
AR
16 25 32 63
30 30 40 70
B 65 85 100 | 180
c 46 58 70 125
D1 13,5 19 25 46
D2 85 13 17 31
E 19 17 22 35
F 95 | 135 15 | 275
L 675 | 875 | 1025 | 1825
M 4 5 5 5
T ;
T o X
HHT M6x8 M10x10
R Kl | 1,20 | 2,30 | 400 | 175

AN EIER ()
16 = M8x30

25 = M12x35

32 = M16x45

63 = M30x80

1N 418 T2 90:

16 = OR % 22025 (6.07x1.78)
25 = OR 122037 (9.25x1.78)
32 = OR #1'52037 (9.25x1.78)
63 = OR /22056 (14.00x1.78)

SE (L8 :

16 = @3x10
32 = I5x14

25 = @5x14
63 = J6x14

4 | Fahd

XH33k:

1/4” BSP

VR SR A HETE A A A 55 12.9 1ISO
4762 (i AT )

10/20



D L P*

F55 20
9.2 - DEIEIR ) mm
P A T
AFRRT
X p v D1ﬁ 16 | 25 | 32 | 40 | 50 | 63
D2 /@ A 30 | 30 | 40 | 40 | 50 | 70
* | _ B 65 | 85 | 100 | 125 | 140 | 180
LP16D — :
LP25D A ! i i B 75 | 85 | 100 | 125 | 140 | 180
LP32D Al o E c 46 | 58 | 70 | 85 | 100 | 125
tiggg [ — ‘ * D1 135 | 19 | 25 | 31 | 31 | 46
LP63D M D2 89 | 13 | 17 | 21 | 21 | 31

/@ E 19 | 17 | 22 | 30 | 30 | 35

95 | 135 | 15 20 20 | 27,5
- F* c / F* 195 | 135 | 15 20 20 | 27,5
52 60,2 |652 732|827 |1115

vy)
*
T

G
Ié f;g /g} H 48 58 65,5 78 85,5 [105,5
i @”I’D”” ’é * y L 67,5 | 87,5 |1102,5(127,5|142,5|182,5
X, @ N M R ERERE
L B C 4{}% @, | @
oo AT
T ] ,
Lk e
—r T PA

G \@ Ribies M6x8 M8x8

R Kg] | 1,20 [ 2,30 | 400 [ 480 | 7.6 | 175

1| ANRERE (ERE):

16 = M8x30 25 = M12x35
32=M16x45 40 = M20x50
50 = M20x60 63 = M30x80

2 | 244 AEEE90:
16 = OR %122025 (6.07x1.78)
25 = OR #122037 (9.25x1.78)
32 = OR 122037 (9.25x1.78)
40 = OR #1'22050 (12.42x1.78)
(
(

50 = OR %!5:2050 (12.42x1.78)
63 = OR %A!52056 (14x1.78)

3| EfLH:

16 = @3x10 25 = @5x14
32 = g5x14 40 = @5x14
50 = @6x14 63 = J6x14

4 | Hrkd

5 | 23 R AFE 1ISO 4401-03
(CETOP 4.2-4-03-350)

HERE: MRS TR (] B B R A 45 2212.9 1ISO
A762( i AT )

48 900/112 CD 11/20



D

9.3 -DZHIZIR

=

X z1 C

LP16DZ
LP25DZ
LP32Dz
LP40Dz

48 900/112 CD

z2

Y

LP+

D2 :
* A\\‘\ T ! 1/
A | i LJE
F\L‘lﬂ | \77\ ! ‘
] ~qc T
" \@
B*
—F* c !
f
O 9/ ©
N6 P o]
‘ N
B C é}:l B@ @A Tli‘:%,:/‘ 31
©: P! B

35 20
JsF mm
AFRRT
16 | 25 | 32 | 40
30 | 30 | 40 | 50

B 65 | 85 | 100 | 125
B* 75 | 85 | 100 | 125
c 46 | 58 | 70 | 85
D1 135| 19 | 25 | 31
D2 go | 13 | 17 | 21
E 19 | 17 | 22 | 30
F 95 | 135 | 15 | 20
Fr 195 | 135 | 15 | 20
G 52 | 602 | 652 | 84
H 48 | 58 | 655 | 78
L 67,5 | 87,5 | 102,5 | 127,5
M 4 5 5 5
AT
T P,A,B,C
M6x8
R [Kgl | 1,20 | 2,30 | 4,00 | 43
1| ANEREERE ER):

16 = M8x30 25 = M12x35

32=M16x45 40 = M20x50
2 | aiaEE HE90:

16 = OR 7122025 (6.07x1.78)

25 = OR 7 22037 (9.25x1.78)

32 = OR /1 22037 (9.25x1.78)

40 = OR 7 22050 (12.42x1.78)
3| JELIEY:

16 = @3x10 25 = @5x14

32 = @5x14 40 = @5x14

FrhiL

2B R~ 774 1SO 4401-03

(CETOP 4.2-4-03-350)

TR A CCRHER A ] B [ R 55 4012.9 1SO

4762( FP AT )

12/20



D

9.4 - DF1RI %R

A T

— HO?
’7 21.5 21.5

X z1 C Y

LP16DF1

D1
D2
17
T — LA
P o
i LN
e
I I8 [T
B*

@T- F* C
)

LP+

o pie
X, - \_¢- =\ ’J‘\Y * H
L ’\1/, é}j& J:f;,‘- J 31
N
&)/ N
T
D2
| G
LP25DF1 ‘M
LP32DF1 R o it L —i
LP40DF1 AN i E
LP50DF1 amiocg : .
—— . }
2 3
F C
VA
/e {
X {?_ /;P%%#_\ -é_ L + H
Bt RO I
| < |
T &
+ / +
®/
G
48 900/112 CD

F55 20
JR~F mm
AR
16 | 25 | 32 | 40 | 50
A 40 | 40 | 40 | 50 | 50
B* 80 | 85 | 102 | 125 | 140
B 65 | 85 | 102 | 125 | 140
c 46 | 58 | 70 | 8 | 100
D1 135 | 19 | 25 | 31 31
D2 85 | 13 17 | 21 21
E 18 | 17 | 22 | 30 | 30
= 17 | 135 | 16 | 20 | 20
F 95 | 135 | 16 | 20 | 20
G 475 | 64 | 725 | 84 | 915
H 48 | 58 | e65 | 78 | 855
L 67,5 | 875 | 1045 | 127.5 | 1425
M 4 5 5 5 5
N 45 | 35 | 35 - -
mikkg | 18 | 23 | 4 | 67 | 76 |
A4 BB (ERR):
16 = M8x30 25 = M12x35
32=M16x45 40 = M20x60
50 = M20x60
2 | 3MEEE EE90:
16 = OR %1 '22037 (9.25x1.78)
25 = OR 722037 (9.25x1.78)
32 = OR %1 22037 (9.25x1.78)
40 = OR 722050 (12.42x1.78)
50 = OR #2050 (12.42x1.78)
3| LAY
16 = @3x10 40 = @5x14
25 = @5x14 50 = @6x14
32 = @5x14
4 | bRk
5 | BT R4 1SO 4401-03
(CETOP 4.2-4-03-350)

VR AR R R R A 12,9
ISO 4762 (i s AhiT )

13/20



D

9.5 - DF2BI %%

1.5 ©1.5

X z1 C

LP16DF2
LP25DF2
LP32DF2
LP40DF2

48 900/112 CD

LP+

B35 20

JR~F mm

ABRA

16 25 32 40

40 40 40 50

D2
o /@
|
T 14
= @ |
A ‘*{..EE—HHI ! +
1 || |
! !
‘o) o
B*
%'F* c
— l N
O 90
MCASNE
s o U & 45| o
TN
\
48 6 \@

B 65 | 85 | 102 | 125
B* 80 | 85 | 102 | 125
c 46 | 58 | 70 | 85

D1 135 | 19 | 25 | 31

D2 85 | 13 | 17 | 21

E 18 | 17 | 22 | 30

F 95 | 135 | 16 | 20

F* 17 | 135 | 16 | 20

G 48 | 61 | 687 | 81

H 48 | 58 | 655 | 71,2
L 67,5 | 87,5 | 102,5 | 104,5
M 4 5 5 5

T R

T A

M6x8

i [Ka] 18 | 23 | 4 | 67

1| ANNRERE ERE):
16 = M8x30 25 = M12x35
32=M16x45 40 = M20x60
2 | 3AEEE EE90:
OR 7122037 (9.25x1.78)
3| EAE
16 = @3x10 32 = @5x14
25 = @5x14 40 = @5x14
4 | Frp
5 | 2R 1SO 4401-03
(CETOP 4.2-4-03-350)
VERE: AR B A R [ R A 55 4012.9
ISO 4762( 7 H AT )

14/20



D

9.6 - QEIER
r

X Cc
LP16Q
LP25Q
LP32Q

)i
XwT—@—‘

X C
LP40Q
LP50Q
LP63Q
48 900/112 CD

LP+

F5)5 20

R~} mm

ABRS

16

25

32 40 50

63

35

40

40 60 60

80

@

65

85

100 125 140

180

46

58

70 85 100

125

D1

13,5

19

25 31 31

46

D2

8,5

13

17 21 21

31

18

17

22 30 30

45

9,5

13,5

15 20 20

27,5

67,5

87,5

102,5 127,5 142,5

182,5

4

5

5 5 5

5

55,5+63,5

62,5 +74|58,5+735(38,5 + 57|44,5+66,5

52 + 81

45+ 51,5 |45+ 51

5|45+ 51,56

44 +52 | 44+ 52

165 + 194

E X

M5x8

M6x8

M10x10

1,6

3 | 5 |8,9|11,7

18

AR IR (ERE):

16 = M8x30 25 = M12x35
32=M16x35 40 = M20x70
50 = M20x70 63 = M30x90

1B A 290

16 = OR %!22025 (6.07x1.78)
25 = OR %2037 (9.25x1.78)
32 = OR 22037 (9.25x1.78)
40 = OR %2050 (12.42x1.78)
50 = OR % 22050 (12.42x1.78)
63 = OR /2056 (14x1.78)

T Al
16 = @3x10
32 = @5x14
50 = J6x14

25 = @5x14
40 = @5x14
63 = J6x14

PRk

AT FR PR 45

DTS A1 7 ek /N T
16=1E: 1,25 mm-#iF 18
25=10: 1,25mm-4&F 18
32=1/: 1,25mm-#F 18
40=1F: 2,00mm- 4T 24
50=1: 2,50 mm-#F 30
63=1/: 2,00mm- T 36

B AR L]

16 = T 18
32={T 18
50 = {7F 30

25 =4 F 18
40 = T 24
63 = #F 36

XI5 3

40 = 1/4” BSP
50 = 1/4” BSP
63 = 1/4" BSP

VR RS MU B HERE A A R 252 12.9 1ISO
4762 (AT IH)

15/20



D L P*

315 20
9.7 - DP*RIDPE*& %% S mm
AFRRT
P T P T
P P 16 25 32 40 50 63
§ % § % A 40 40 40 50 50 70
K Z1 KC Wokz1 K C
PR —— ey B 65 85 100 125 140 180
LP16DP* LP16DPE* B* 75 85 100 125 140 180
LP25DP* LP25DPE* c 46 58 70 85 100 125
LP32DP* LP32DPE*
LP50DP* LP50DPE* D2 8,5 13 17 21 21 31
LP63DP E 18 17 22 30 30 35
F 9,5 13,5 15 20 20 27,5
D1 ﬁ F* 195 | 13,5 15 20 20 275
D2 @ G 52 64 71,5 84 91,5 | 1027
P ‘ ‘ ‘ H 48 58 65,5 78 855 | 1055
? e HINEIEEH g = L 675 | 875 | 1025 | 1275 | 1425 | 1825
g s s | QU | ]
A B | +_rﬁ M 4 5 5 5 5 5
g X | |C | T \ E
i S SO i 1 N 24 25 25 25 25 35
1 R |45+ 51,5|45+ 51,545+ 51,5| 44 + 52 | 44 + 52 | 44 + 52
M
f‘TE‘
/@ P yas | 246 | 416 | 740 | 1050 | 175
B [Kg]
] R
4—ftF* c DP* #¥iF
| / M5x6 M6x8 M8x8
FAR\ 2 }'/ t X 212 | @12 | 912 | @20 | @20 | 220
\WD/Adh 20 C 207 | @07 | @15 | @12 | @15 | @15
- © @P % T H
L B ¢ [ S HT s DPE" i 7
heil 1Y% M5x6 | M6x8 | M6x8 | M6x8 | M6x8
o e +
,,,,,,,,,, X 208 | 907 | o1 1 a1
+ ( C 206 | @06 | @08 | @08 | @08
/ Z1 6 26 26 6 6
y v >
1| ANEREEZE R 5 | XAHk: 1/4” BSP
LS T S 6 | MR 154 1SO 4401-03
32=M16x45 40 = M20x50 sl
40 = M20x60 63 = M30x80 (CETOP 4.2-4-03-350)
2 | QO B : 7 | RS

16 = 3/MOR 22025 (6.07x1.78)

257132 = 3/"OR 22037 (9.25x1.78) 8 | VLKA AR

407150 = 34-OR 7! 52050 (12.42x1.78) G - e 8 K P
63 = 3 OR %/ 2056 (14.00x1.78) lg, ggiggg = %i g
3| A 16 = @3x10 d =
25, 3271140 = @5x14 9 | iR
5071163 = @6x14 16, 257132 = . F 17

40, 507163 = # T 19

4 | HRkd
R BRI K B A 2541129 1SO 4762(75 HAiTIE)

48 900/112 CD 16/20



D

10 - RN KZHE T4

A7 U PR3 0 P 7 1) 0 -4 2R R P B P e 1 I e A e AR 2L A

PNP Y f s il i P 510K AoBTLUiE .

10.1 - WA K FHE AT RES

LCM*

355 20

L CM -

D4/ 20N
L

B4 70 T Wkt NBR HEHY09 t FR
(i R AN 754
i TR VA=A R W AR
AR g?%Aﬂgfﬂ%ZO-Z& VS s
16 =ND 16
25=ND 25
32=ND 32
40 = ND 40 L A, XU E /5= 4 bar
50 = ND 50
AR INEE
(FE4IE B 25 10.3F110.475) — e R AL
D = Jy [n] 45 il AR [ B D g
Z = J5 3 H A HARAG 2 iR AL 5
(Fi&FI TND 16)
AL (A, 1 A,) = 1:1,66
10.2 - RedE iR (wiiE50°C, MMOKE36 oSt Rl
Ap Ap
[bar] § GN16 GN25 [bar] § GN40 GNS50
10 10
// [ 1/
° // / ’ /I
6 // // GN32 6 // //
A pd pd A / /
// » / /
J 7 //
P - _
0 100 200 300 400 500 600 700 800 0 1000 2000 3000 4000 5000
Q [I/min] Q [Vmin]
48 900/112 CD 17120



LCM*

515 20
10.3 - Jy (A AL ) R Th B DRSS R ML R RF 5
PR S ik
FF ) 4 S 13 I L I DS 3-TASI IR, (75 50 biT I - WREAS 41 150)
- G = A — B Lit®E
- HEARAEH = A« B HBRsh
S G E AR L, RAS1950751, FEAITIE.
P Al[B T
# i
X C Y
B
A
10.4 - J7 AR A SR R 4t F W Z B SRV BRRF S
PR S iR
A
— $7T2S 1 2l G 42 3 5o R 2 FL A MO DTO3-3ASEHL (75 BT I - WLREAC42 200). 754
b ISO 4401-0347 1 IDNE R il B4 (1F50294329) AT LARH 1E W5 i1 B4 HAHIRE, AifTs2
P_A BT MR 3 Biisl.
" 7 - R = ZE T - A~ B LiE
X c ¢ - A E = A o B Bl
=
A
SeFEEhE e e, 51950751, T HMITIE .
P A BT
# i
X C z2 Y
B
A

18/20

48 900/112 CD



D LCM*

315 20
10.5 - HE W 9B 3B TS B A 2238 R~
R mm
P AT
AMRF
% i
X C Y 16 | 25 | 32 | 40 | 50
B 55 | 60 | 70 | 75 | 90
A
B 785 | 85 | 100 | 125 | 140
LCM16D-QD4 46 | 58 | 70 | 85 | 100
LCM25D-QD4 D1 135 19 | 25 | 31 | 31
LCM32D-QD4
LCM40D-QD4 D2 8,5 19 17 21 21
LCM50D-QD4 E 18 | 17 | 22 | 30 | 30
]
\: F* 195135 | 15 | 20 | 20
\
E i i F 95 135 | 15 | 20 | 20
R l b ‘ =
T Bl == G 52 | 60,2 | 67,7 | 80,2 | 87,7
|
M 7 H 48 | 58 | 655 | 105 | 85,5
m L 81 | 92 [102,5|127,5|142,5
i M 4 5 5 5 5
‘ N 70 | 70 | 65 | 60 | 55
B R 111 | 132 | 155 | 180 | 212
—rF C //—@
: & £ ek b A
‘On WY S )2
F--{e———6C
f @ p oK
L x, @ Ly H R Ke | 21| 33| 53| 95 [ 145
B C ) ) 31
|
O7 o>
T {45\ W A\
N
> 4 1| ANNEREIZER ()
16 = M8x30 40 = M20x60
G 25=M12x35 50 = M20x60
32 = M16x45
2 | 3NMEHE, wEE0:
B 16 = OR %% 2025 (6.07x1.78) (3 T
ND16, HE21O0R)
257132 = OR #152037 (9.25x1.78)
40150 = OR %152050 (12.42x1.78)
P A B T 3| ENE:
16 = @3x10 40 = @5x14
+ i 25 = @5x14 50 = @6x14
X C 22 Y 32 = g5x14
B L B 4 | tr
A |
5 | R4 1SO 4401-03
LCM25Z-QD4 (CETOP 4.2-4-03-350)
LCM32Z-QD4 N
&
LCM40Z-QD4 6 | Binsfea
LCM50Z-QD4 7 | HE R Rk
(FFHBITIY, WLE510.675)
8 | FHIGHR — i HR AL A

AR TR T R 5540 12.9 1SO 4762
(5 SARIT )
VERE2: R IR IR R AR5

48 900/112 CD 19/20



D

10.6 - B AMLBE RIE LRSS H

PNPZ!
WiE HE VvV DC 24
R Y Vv DC 10-30
THFERLI mA 200
At JEH ik 55T
Wbk J= s
LA R %
HBIE
A ER: i Sk
K TAEE T bar 350
TAERETE R °C -25/+80
ZHECEI EN 6052947 1 (174745 2% P68
(A5 E2))
W B LED (JERE) NO
VR ledWE TR, oA,
. kRt
L +
<@> . ne
3 _#fa _

Wi = i E (AoB L)
WITIT = il 47T (A—B A Hiiah)

LCM*

B35 20

H RSk (i AT )
fR%: ECM3S/M12L /10

k. PHIESER Sk M12 - IP68
R 35 0.34 mm® - K5 mt- AR REIEHR MR
(i)

LED/T :

SELED: SoR RS LM ERE . WIRLEDIT K, F£orffiki&
EERr:E

WEBLED: ERRPRES

- | TAE HEOLEDIT 5% - S LEDIT 5%

- RTAE HELEDI K - S LEDT 52

DUPLOMATIC
OLEODINAMICA
DUPLOMATIC OLEODINAMICA S.p.A.
Tel:0769-22714386 Fax:0769-22789076

http://www.duplomatic.cn
mail:sales@duplomatic.cn

48 900/112 CD

REAN T AN, R 20/20



